9 by 9 Killer Sudoku

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.

9 12 9 3 110
17 15
12 21 6
16 17
16 7 8
7 15 16 9
7 7
11 9 12 113
10 16 9 9 6 11
9 17 9 7
15 6 8 14 10
15 10 9 9
7 14 7 13
=
7 9 i12 20
24 11 14 {
12 8 14 5
= =
4 13 12
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Answers

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.

3/5/917 (82|16 |4
6 71214 1|1 |95 38
814 |1 (3|6 519 2|7
5113162 |8|741]9
9 8161|514 |72 1]3
71214193 |16 |85
1 16 7189|345 2
4 135127161891
2 19 (81|54 13|76
6 (9 2174|1538
4 171316 581921
811151312 (914,7]6
715191283614
34, 619|172 8|5
2 8156413 ]|9|7
516 71832149
912 4117|5863
1 (384967 ]|5]2
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